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a. Datum error

[8] b. Reading error
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d. paraliax error
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 When the basic size of a hole is equal to 35 mm, the upper c
the lower deviation is equal to ( + 0.01 mm). then the minimum r

O @ 3490 mm

) b.34.99 mm
) ¢.35.01l mm
N ® d. 3510 mm

Clear my choice



The inside micrometer is an example on the indirect measuring devices. '.: B

[

Select one:
O True

) False









Metric (103 ) pieces

_ Increment
1 piece (1.005) mm

49 pieces (1.01 to 1.49) mm 0.01

49 pieces (0.5 to 24.5 ) mm 0.5

4 pieces (25- 100) mm 25

use the set of blocks in the table above

(sgnora the using of wear blocks)

(J)a.3
e b 4
c.5
d 6
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When the basic size of a shaft is equal to 35 mm, the upper deviation and the lower deviation
for the shaft are (+ 0.00 mm), (- 0.02 mm) respeactively. The type of tolerance for this shaft is
called -

Inllateral tolerance
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The error in measurement eiua ) 1
error. Al

Select one:
O True

%False
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For a shaft and a hole system, if the minimum diameter of the shaft is larger than the

maximum diameter of the hole, then the type of fit between the shaft and the hole is
called

a. clearance
[cl b. interference
. ransition
1 both A and B are cormect

a. all of the obove
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the fundamental deviation for the hola (A) is equal to the undamental deviation for the
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a. 50 degree ond 15 minutes

b. 49 degree and 20 minutes
[E] ¢ 50 degree and 20 minutes
d. 51 degree and 20 minutes

Clear my choice
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Select one:

tag True
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® False
uestion 12 The tolerance of a shaft is equal to the difference between its upper deviation and its
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Question 10
- Not yet
1 ’:’ answered

Marked out of

D 1.00

¥ Flag
< question
k1
E | J l]
4Ol 1
mnswered
!
1 ! L ]

Inspection is defined as a procedure in which a part or product characteristic, such asa

dimension, is examined to determine whether it conforms to the design specification.

Select one:

® True

False

Periodic calibration of the measurir

L one

ng device can eliminate or minimize the random error

Finish attempt =

Time left 0:25:17

Accuracy

£ Type here to search
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Question 21

Not yet
answered

Marked out of
1.00

Flag
question

Select one: T —
® True

O False

For a shaft and a hole system, if the maximum metal limit of the shaft is less than the
maximum metal limit of the hole, then the type of fit between the shaft and the hole is &

[%10. clearance
\3

b. interference
c. transition

d. both A and B are correct
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in @ shaft and hole system the upper deviation of the hol
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Select one:
O True

O False
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